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No 5 PN B DIERE o L-134 o L-137 SEfE
Bag. kg Ba. kg Ba ke
1 AR LT R7.4.25 EARLULM=IT (EHh) BREE9(<5.9) 115 12
2 BE YT R7.4.25 [RARLULV =T (FE#h) BRHET(<4.0) 10.3 10
3 AR AT R7.4.25 EARLULM=IT(EHh) BREE9(<2.8) 457 46
4 AR LT R7.4.25 [RARLULM =T (EEth) BREE9(<29) 18.8 19
5 EFF R7.4.23 BEARLWL=IT () BREE9(<2.6) 20.4 20
6 wmET R7.4.24 HoU (FHE) BRHEE9(<4.6) B®RHEE9(<3.0) -
7 wmE™ R7.4.24 HoU () BRHEI(<L5.1) BRHE9(<3.9) BRHEEd
8 FEH R7.4.25 HoU () BREE9(<4.2) BRHEE9(<3.8) BT
9 FEH R7.4.25 HoU () BRHE(<3.3) 4.64 46
10 = RET R7.4.24 HoU () BRHEE9(<5.0) 18.1 18
11 E=3= 3 N R7.4.24 HhoU (F4E) BRHEE9(<L5.7) BRHET(<42) BEed
12 W= BT R7.4.24 HoU(F4E) BREE9(<7.9) 20.9 21
13 0 ERET R7.4.25 HhoU (F4E) BRHET(<35) 7.67 7.7
14 JIRFF R7.4.24 HoU (F4) BRHEEY(<42) BRHE(<44) - daskcac
15 FasEAT R7.4.24 FAFEWN(FE) BRHEE9(<3.9) BRHEEI(<47) BEed
16 ISET R7.4.25 AE(HFHE) BRHEE9(<5.6) BRHEE9(<4.6) BrEed




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg
17 EZA™ R7.4.25 SE(FH) BRHEE9(<5.2) BRHEE9(<43) BRHEEY
18 RIEXER R7.4.23 =50 (Br4) BRHE9(<9.3) B 97(<6.3) > Jarkcacl
19 A= BT R7.4.24 =D& () BRHEY(<3.2) 9.57 9.6
20 RERET R7.4.24 =50 (Br4) BHE9(<6.0) B 9(<4.6) > Jarkcacl
21 T 4ERET R7.4.24 (EETD(ITH) (BE) BEHE7(<42) Bt E9(<4.0) BEEY
22 =2 R7.4.24 (EZFTD(ITH) (B4) BRHE9(<5.8) BRHE9(<43) > Jarkcacl
23 =) R7.4.25 (EFTD(ITH) (B4) BRHE9(<7.3) BRHEEY(<T.1) BRHEEY
24 RIEXER R7.4.24 It (F4) BRHE9(<3.8) B 9(<5.0) BRHEEY
25 A= BT R7.4.23 It (F4) BRHE9(<4.6) BRHEE9(<3.2) BRHEEY
26 RESHT R7.4.23 D (&) BRHEET(<41) BRHE9(<4.8) BRHEEY
27 K ERHT R7.4.24 It (F4) BRHEET(<44) BRHEET(<41) BRHEY
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